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JB4z K £ NET HDCP  TOTAL ouT __ IN OUT NET [=tiva K % NET HDCP  TOTAL ouT  IN OUT NET
' B Bhéax 68 0 68 ( 33 35 ) 330 BB THE 70 15 85 ( 43 42 ) 355
2[0 £ ki 69 18 87 ( 45 42 ) 360 2R 14k BE 73 16 89 ( 44 45 ) 360
3G =M B8 71 13 84 (41 43 ) 345 3R A HfT 73 24 97 (48 49 ) 360
4G R E HEZ 71 10 81 (41 40 ) 360 AL EER B 73 14 87 ( 43 44 ) 360
5L L B 72 14 86 ( 44 42 ) 370 b WH B 73 24 97 (49 48 ) 370
661  #E #E 72 18 90 ( 47 43 ) 380 661 HEIE= 74 11 85 ( 43 42 ) 375
Th LB T 74 3 77 ( 37 40 ) 355 Th EEE BA 74 16 90 (48 42 ) 400
8 HE =7 74 6 80 ( 40 40 ) 370 8k BE BHF 75 17 92 (45 47 ) 365
ofr HFH FE= 74 25 99 ( 50 49 ) 375 ot T|OHZ 75 18 93 (52 41 ) 430
1062 &) & 74 13 87 (46 41 ) 395 10 HAE & 76 28 104 (52 52 ) 380
156z Al BB 77 20 97 (47 50 ) 370 157 SH & 77 17 94 (47 47 ) 385
2061 =X &HE 78 21 99 ( 49 50 ) 385 206 EH {E—HB 78 3 81 ( 41 40 ) 395
25K FAE B= 79 15 94 (47 47 ) 395 25f  EE E=— 80 17 97 (48 49 ) 395
3067 hoE 82 14 96 (52 44 ) 450 30K M R 82 15 97 (48 49 ) 405
4067 K3Z #Al 87 23 110 (54 56 ) 425
BBE =i7 s 86 26 112 (55 57 ) 420 BBE =K BE 96 30 126 (64 62 ) 490
BGE & #Bx 68 ( 33 35 )
Par 72 1—XL—t RA—FL—hk
EM(EF) 6606 yard  71.3 128
EiE(E) 6237 yard 695 123
BEi(4) 5892 yard 681 119
EfE(%) 5281 yard 649 114
LME(%) 5281 vyard  70.1 123
“ME(FR) 4878 vyard  67.8 119




